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Note: It 15 compulsory to attempl (66 parts each from Q.No2, 3 and 4 and attempt any (03) questions
from Part Il Write same questions no.and its part no. as given in the question paper.

il i
J6=2x18 IMJ!(L 2 diargram where necessary. -/ ufr f' dA/Uu? | LJ L2 )

e et e v T T P — — = = e — —k— whearta dhs—eth bbb
™ N '--------"'—"""““-"'-'_"'_"'--""F-—-"""'1'"l---'lfﬂ-hl'ﬂ:m--d.-l_n.mru-.rr-r-.--l-

.-_1
| J’J;'w:""” LJJELL”UW?J"TL-L' Cr Us'{ 80 % e hullays 8 800,28 u-w) JK...»L’J i gﬁ‘lj,e’,
| .

; Il there are 800 cars in a parking and 80 % of them are Pakistan made. Find the numbe"ofy
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:F\pmq = ¢y in simplest form. 2. 101% "'Wﬁ"ﬁ:ﬂﬂ; T
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The price of 20 ptn:» isIRs. Eﬂﬂﬂ What WIII be the price of 40 such pens?
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Caleulig Zakat on Silver amounting to Rs. 300,000, ,Mwuﬂwmgmnn nunJLuMﬁ
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What i meant by Marked Price? ﬁ;:yg.:.;éw&;;( ) :
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| Find the CP i SP = Rs.672 and Profit = 3% sy (72 =ady/ed (5% =l f'lf_,fﬁr:l”,gf.;f (vii) ;
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t < 2760 =;é=ﬁf;:r (S o= LK ,f:?,: ri‘”:infl.:-g (viil) :
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| Find the Selling Price when MP = Rs, 2760, Discount =3 % |
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| What s meant by Bank Draft? ?{.’-f",’?{;’- ﬁr"flhff (ix) :
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Il the Simple Profit on Rs. 640 for 12 years is 334, then find the rate of profit
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Define Income Tax, W7 Lr( "’H{l (i)
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I the price of an Airconditioner is Rs, 40,000 , then work out the amount of sales tax on it at the
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Il logx = 0+1597 then find " %"
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Simplify and write vour answer m m ' u.‘.“u'::/’.fu t/\,.rf:mq;ﬁf (vi)
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Which term of an_ 4 5 = 14607 Pe =146 sl 6,2,-2, A% (i)
L, 2,8,32, ----- . J"ffxd" Lt 2,8,32, ----uf,JrJ'Li;/‘" (vii)
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Find the 7th

If the AM. between "a and 16" is 24, then find the valuegof "a’.
Define Complement of a Set, -L{j-éf/‘gwiﬁf () 42
AND = BNA Jdedi B = {4,6,8,9) o a= {1,478 }JT i)
Ira={1,47,8) and B= {4,6,8,9 ) then prove that A}B = BAA
What is meant by Onto Function? Ti:_:lflf':;. 'j":r*],;}T (iif)
What are Horizontal Lines and Vertical Lines? fi *‘ fo .h»f”mrp ;su,l (i¥)
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Write lllchrdunlu of a point to the right side of the origin on v-axis al 4 distance of 3 units

from the uunm

p 3970l P
Draw Graph of y = 3¢, JAJV-&UM’-' iqﬂ..iffﬁ' = 3¢ (vi)

Define Range and write its formula. 0301 ﬂﬂM?/ "h’ quf‘i-'f‘ KJUJL’,{ J@ﬂr = (vil)
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' Find Harmonic Mean of 3.,4,8. -;_)’fr‘:"’hr:b&;}b 3,4,8 (i)
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11| Write formula of Standard Deviation for Ungrouped Data, -\ .U/JKJ FUJLvié*b‘Lﬁ-j—’ (is)
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Two angles in a trianlge are 8" and 60°. Find the ratio of the third angle to the
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sum of the first two angles. 3
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The inherited property amounting to Rs.20,00,000 is left by a deccased , He left |
| behind a widow and two sons. Workout the share of each.
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A shopkeeper gains a profit of 7 % by selling a dinner set for Rs. 3852, If he sells
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it for Rs. 4030, find his profit percentage.
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Ali deposited Rs. 2000 in NBP in_his sa
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; The total taxable income of two persons is Rs.2,50,000 and Rs. 3,10,000 respectively,
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Workout the income tax for each of them uat the rate of 4+ 5 %,
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E The radius of earth is 6400 Km. Convert it into meters and write the solution in

Scientific Notation, .

S Sy

(4) IR0 1 N | Jpe— J!fngL):ﬂ‘H,uJ’Lr? (i) Sf,jdlf
: Find the specilied term of the given AP, 9,14, 19, - 14th term,

A a={23,57) 4 U={1,2,3,4,5,678 ) S0

I U={1,2,3,4,5,6,78 ) and A={2,3,5,7} then find ANA° |
) Draw (he Graph of y = Jx+1 B ly=341 W) 9,{3;,,.;

(4) Find the G.M. for the following Frequency Distribution. ..Q/r:t”h-:ldﬁﬁlrdﬁdj@.u () | J
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Note : Four possible choices A,B,C, D to each question are given. Which chaice is correct,, fill that circle in front of that question

number. Use marker or pento fill the circles. Cutting or filling two or more circles wil result in zero mark in that question.
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Lowest form of 75+ 95 is : f;'-'-fy uJL-TJ 751 9% 1/‘5’*’
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The shareof & widow in inherited propérty s : LLI u’ U-W J ”L" ﬁvﬂJJFW’ﬂﬁ’ 73 [3) ‘

| Zakat is deducted at a rate of
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A machine installed by the bank to dlsanbL cash to customers is called an
Cort Reader 4t (D) ATMfL awl (C)  Scanner f*’ (B) Computer i @
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An instrument for mymcnt order issued by a bank on the request of its customers 1s called :.
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The taxes of thu form of duties, motor vehicle taxes are called : |
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Money that must be paid to the state charged as proportion of income and pti}flt added tq.tﬂSt. l
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of some goods and services 15 called a
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